Ratio to ATLAS

C f
Unentraly,  oq - MOrwardy,, o0

w
o

N
o

=
o

_°N

0.5

8000 GeV pp Jets
S L L L O L Y I BN E L L BN I B B
— AverageA N, (pT>5, central-forward, | < 2.1) —
B m ATLAS 7
B Pythia 6.428 350 7
| —A— Pythia 6.428 370 |
- Pythia 6.428 380 —
— —o— Pythia 6.428 p0 —
— --43-- Pythia 6.428 p2010 7
N a _|

N | ] ]
| H - ]
_ ] l m | | | | | | | | | | + | ] | ] ]
: I: T [m ) T T | T T T T | T T T T | T T I:
" 1 1 1 1 " | " 1 " 1 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1
0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


